;> restart
> f:= Heaviside(t — 1) — 2-Heaviside(# — 2) + Heaviside(¢ — 3) : plot(f, t=-5..5, scaling
= CONSTRAINED)

_> g = Heaviside(¢ +3) — 2 -Heaviside(z + 2) + Heaviside(z + 1) : plot(g, t=-5..5, scaling
= CONSTRAINED)




[ > plot(f+g,t=-5

.5, scaling = CONSTRAINED)



> Li=5:b = (%)~inz((f+g)-sin( ”'Ei" ),z=—L..L)
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> STF 000 = sum(bn-sin( ”'El't ),nZI..IOOO) :

[ > plot(STF 5, 1=0..4)
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> h :=-Heaviside(f + 3) + 2-Heaviside(¢ +2) — Heaviside(z + 1) : plot( f+ h,t=-5..5)
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> a, = (%)-mz((ﬂh)-cos(%),t=—L..L)
ZSin(%nn) 4sin(%nn) 2sin(%nﬂ:)
a = - + — 4)
" nm nm nm (

Th L

. 1 ) 2 ) 3
© 2s1n(? nn) 4s1n(?n1t) ZSIH(? nn) 1
STF, = 2. | - + - cos(— n m) 6)
: nm nm nm 5

n=1
n-Pi-t

> STF, = Sum(an-cos( n:Pr ), n=1 ..inﬁnity)

> STthwoo = Sum(an-cos(

),nzl..loooj :
[ > plot(STFy 500 1=0.4)
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n-Pi-t . ( n-Pi-t
STF, 009 = sum(an-cos( ; ) +bn.sm( . ),n=1..1000) :
plot(STF g, 1=0..4)
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